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PreAlgebra: Course 3
Chapter 3 Review

Use the figure to find the measure of the angle. Explain your reasoning.
1. 237 2. 245 45

Complete the statement. Explain your reasoning.

5. Ifthe measure of £3=46".
then the measure of £6= 7 %4~

6. If the measure of £5 =102° ‘

then the measure of £8=2 |7

7. Ifthe measure of £4 =98° then the measure of £7 =7 §

8. If the measure of £ 6 =59° then the measure of 24 = ? VA

Find the measure of x given the following interior angle measures.
9. §% 10. 11.




73475 +x = 80
=\%0
15. 4% ¥ i 4%

x(g. 2) \%‘O'
(G)igo
|0%0O

18. e

e _\..90‘(-903 540

5 x\50 =S40
- 130 - &0
,S ?2_(_00

X =
"5' S
(7 -2 |\




18. A ladder leaning against a wall forms a triangle and exterior angles with

the wall and the ground. What are the measures of the angles?
Justify your answer.
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20. The triangles are similar. Find the value of x.
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21. Are the two triangles below similar? Explain.

qu*
¥ Sg+ 1% ty=¥0
-y

1%

x"

a5\ /o I8
kASEr X = \§O
lod+x = \§0

22. A person standing 28 feet from a street light casts a shadow as shown. What is the height h
of the street light? Assume the triangles are similar.
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23. You are trying to find the distance d across the river.

a. Explain why triangle ABC and EDC are similar.
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b. What is the distance across the river?
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